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paper seal on the edge of this cover page. Do notaccept
a booklet without sticker-seal and do not accept an open
booklet.

Tally the number of pages and number of questions in
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should be entered on the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.

Example: ) @) @ (@ where (3)is the correctresponse.

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark your
response at any place other than in the circle in the OMR
Sheet, it will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or
put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
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using white fluid, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There are no negative marks for incorrect answers.
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GEOGRAPHY
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

1.  The concept of Padiplain is associated with :

(1) W.M. Davis (2) L.C. King (3) W. Penk (4) C.A. Cotton

2. The direction of a horizontal line on an inclined rock strata is known as :

(1) Anticline (2) Dip (3)  Syncline (4) Strike

3.  Who stated that the slope profiles are convex, plane or concave according to the circumstances
of the uplifting action ?

(1) Penck (2) Davis (3) Johnson (4) Wood

4.  The premise that the present-day processes have been operating throughout geological time
is the principle of :

(1) Isostasy (2) Diastrophism

(3)  Uniformitarianism (4) Catastrophism

5.  Match List - I with the List - IT and select the correct answer from the code given below :

List - I List - II
(Scholar) (Theory)
(a) Hall and Dana (i)  Sea floor Spreading
(b) Hutton (i) Thermal Contraction Theory
(c) Harry Hess (i) Theory of Geosyncline
(d) Jeffrey (iv) Doctrine of Uniformitarianism
Code :
@ () © @
W O @ @) ()
@ @ O @ @)
@) (v G @ )
@) @ @ O @
s IR :
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(fagr) (fagr=1)
(a) T T T () TR ST YR
(b) ®&d (i) <o HgpEA fagr
(c) TH™ (iii) g-stimfa = fagra
(d) S (iv) TehEudEmR sl fFg=
<
(@ () (o (d)
1 @ @@ (@v) (i)
(2 @@ @ @) ()
@) (@v) @ @
(4) (@) @) @ (@)
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the code given below :

Assertion (A) : There is close relationship between volcanic activities and plate margins.

Reason (R) : A vast majority of the world’s volcanoes are associated with the convergent
plate margins.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not a correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Match List - I with the List - IT and select the correct answer from the code given below :
List - I List - II

(Topography) (Landforms)
(a) Glacial (i) Alluvian fan
(b) Marine (i) Yardangs
(c) Fluvial (iii) Arate
(d) Aeolian (iv) Tombolo
Code :
@ (b) (9 (d)
O @ O G W)
@ ) @ 6 )
@) G @) @ o
@) @ @ O @
Match List - I with the List - IT and select the correct answer from the code given below :
List - I List - II
(Author) (Book)
(a) J.A. Steers (i)  Morphological Analysis of Landforms
(b) S.W. Wooldridge (i) Principles of Geomorphology
(c) Walther Penck (iii) Unstable earth
(d) Thornbury (iv) Spirit and purpose of Geography
Code :
@ ) © @
1) @ @ G 6
@ O G @ i)
@) (v @ @ )
@) @ @ O @
(T ;
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(1) (A) 3R (R) S =&t § 3R (R), (A) T & =08 7

2) (A) 3R (R) S TE €, TG (R), (A) HT T A T T |

3) (A) W&l T, W (R) o & |

(4) (A) 7o T, TG (R) TR T

Tl - 1 1 gl - 11 3 |1 aferd o o) 19 o 70 e § 9t W 1 =997 L

et - 1 et - 11

( FereTeRta ) ( y31TeRfa )
(a) Temtdm () Voie GEEd JER
(b) E (i) ATSH
(c) <™ (iii) WIS
d) g (iv) gt fafa (Smeie)
<<

@@ (b) (9 (d)
1 @) @ @) ()
2 (v) @) @) (i)
3) @) (@v) @) ()
(4) @) (@Gv) @) (i)
Tl - 1 1 gl - 11 3 |1 gaferd o o) = 3 T e § 9t W 1 =91 L

et - 1 e - 11
(@ ) (q&h )

(a) .U EERY (i) HRETShRE TATATTT ATh ASHHY
(b) THSY, JeIigst (i) Toduem st fSEERETST
(c) dree Uk (iii) STTETA e
CORIEER (iv) Toafe e wus sifw ST
<

@@ (b) (9 (d)
1) @) @) @) @
2 @ (@Gv) @) (i)
®) @v) @) @) (i)
(4) (i) (i)

®) ()
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9.  Which one of the following is the correct average slope of a typical ‘front’ in weather
phenomena ?
(1) 1:150 (2) 1:100 3) 1:50 4) 1:5
10. Match List - I with the List - IT and select the correct answer from the code given below :
List -1 List - II
(Conferences/Reports) (Held in/Published in)
(a) Global climate change impacts in the United States @ 2007
(b) Stokholm Conference @i 1992
(c) Fourth Assessment Report of the IPCC (i) 1972
(d) Rio Conference @iv) 2009
Code :
@ (b) () (d)
O O @ @) )
@ @ O G @)
@) v @) @ 0
@) ) @ 0 G
11. In which one of the following atmospheric layers temperature remains constant ?
(1) Stratosphere (2) Tropopause (3) Mesosphere (4) Troposphere
12.  Which one of the following is the correct sequence of surface components of pressure and
wind from the equator to the poles ?
(1) Polar easterlies, Westerlies, Subtropical highs, Trade winds
(2) Subtropical highs, Westerlies, Trade winds, Polar easterlies
(3) Trade winds, Polar easterlies, Westerlies, Subtropical highs
(4) Trade winds, Subtropical highs, Westerlies, Polar easterlies
13. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the code given below :
Assertion (A) : Above 1000 meter altitudes most winds follow a geostrophic or near-
geostrophic course.
Reason (R) : The friction layer of the atmosphere extends to only about 1000 meters above
the ground.
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not a correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
rasor [ HARCANAN ;
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11.

12.

13.

gt gfere o SR fafyre dimmg am i T2 3f9d g hia 9 Bt § 2
(1) 1:150 2) 1:100 (3) 1:50 4 1:5

Tt - 1 & gel - 11 % 0 gafaa & ok F= feu 7u e § 92 3 &1 =91 &L

el - 1 et - 11
(hitha,/ Rurd ) (wemTtyTa o )
(a) FAECS WH H dAfvaes e dcad gdE i) 2007
(b) FIREM HEHY (i) 1992
(c) IPCC @t =teft afreher R (i) 1972
(d) Reh awem (iv) 2009
e :
@@ () (9 (d)
1 @ @) @) ()
2) (@) (@) @) (i)
3) (v) (i) () ()
(4) (v) (@) (@) (i)

frefafed agHed™ wal § 9 feg o e fer war g ?
(1) IHaIHSA (2) &y g (3) WEHAHEA (4) afwHEd

I Y@ § W el ok S IR 91 % Fel Gael ek A Efefed § 9 wF W e ?
(1) et qea gan, ufve} gard, 39T I=4 e, AR Yo
(2) U 3= ST, I BTG, ST 9o, Yot g gl
(3) AR Yo, Yata Qe ga, ufvaHl gard, U 3= e
(4) AR Tor, ST I= S, UT¥EH gaTd, et qean ge

= 1 e fou T €, w0 AfeRem (A) 3R T 1 RIRUT (R) % w9 H femn ¥ A few e

AMURLT (A) 1 1000 HIX FT T ¥ TR Afehier o, Jfadrdt stean wde-Hde yfaddt 9o
R Ferd g

HIT (R) : AHEA T THU WA STHH F S T 1000 HX T & &l 7|

e

1) (A) 3R (R) S T& € IR (R), (A) H T& =AW T

2) (A) 3R (R) 3 & §, T (R), (A) F T AR T B

3) (A) 5 T, g (R) Tod B

(4) (A) T T, g (R) & B |
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15.

16.

17.

Which one of the following isotherms for the average temperature of the Warmest month is
generally accepted as equator ward edge of the Tundra climate ?

(1) 2°C 2) 10°C (3) 5°C 4) 15°C

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the code given below :

Assertion (A) : The trade winds are predominantly easterly.

Reason (R) : An easterly wind blows from west to east.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not a correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Which one of the following types of climate is appropriate for BWh in Koppen’s World Climate
classification ?

(1) Subtropical Desert Climate
(2) Subtropical Steppe Climate
(3) Midlatitude Desert Climate

(4) Midlatitude Steppe Climate

Which one of the following values of temperature is correct for the average freezing point for
seawater in Arctic and Antarctic seas ?

°C 2) 0°C B) -2°C 4) —10°C

1 2 2)
wasor [ FHIULANN ;
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16.

17.

frefafad 5 9 fra stfismad 301 7EH o 3iFq a9 & 9 aTell FHard 3@ 6l JHEEa: 30el
SAAT i YAEA @ ST i A=l U § 2

(1) 2°C 2) 10°C (3) 5°C 4) 15°C

= 31 e fou T €, wew i ifeRe T (A) 3R T 1 RIRUT (R) % &9 H fen R A few e
% H ¥ TEl I M

AR (A): IR o THEAT IR T Bt © |
HIT (R) : Rl 7o e | U9 i IR yenfed 2t ¥

ETE

(1) (A) 3 (R) < w&l € &R (R), (A) T FE <A T
(2) (A) 3T (R) S T E TG (R), (A) B T A T
(3) (A) T ¥, W (R) TTed T

4 ()

4)  (A) T, WG (R) TE T

I o fava Sierarg srftetor § BWh & o frefafed § & &1 9 JR &1 Seary Suge © ?

(1) ST FEEA Sy
(2) S R A

(3) LA AT HEEIA ScAdTg
(4) A &IV W Serarg

SWYAT AR oyt gl o L S o sl fenie o fou fFrefafed § @ «F 1 aaH e v
§?

(1) 2°C 2) 0°C 3) -—2°C 4) —10°C

)
rasor || FHMNE A :



18. Match List - I with the List - IT and select the correct answer from the code given below :
List -1 List - II
(Plate name) (Direction of movement)
(a) Indo-Australian plate (i) East
(b) Cocos plate (i) West
(c) Pacific plate (iii) North
(d) Nazca plate (iv) North-West
Code
@ (b) () (d)
1) @) @) @O (@)
(2) @) G@v) @ @
G) @) @@ @ )
@ @ @ @) @)
19. Which one of the following periods when the sea level around the world, was as much as
130 meters lower than today ?
(1) Holocene (2) Pleistocene
(3) Miocene (4) Cambrian
20. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the code given below :
Assertion (A) : The moon produces greater percentage of Earth’s tides than the Sun.
Reason (R) : The Sun is closer to the Earth than the Moon.
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not a correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
21. Which one of the following terms is appropriate for plants that endure seasonal climatic
fluctuations from year to year ?
(1) Perennials (2) Annuals (3) Seasonal (4) Bi-annuals
rasor [ HERUARAN 10
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<

1

A) 3R (R) < T& ¥ iR (R), (A) T TE == 7

A) 3R (R) SFT T8 €, R (R), (A) T TE ==& T |
) & ¥, T (R) T €

A) T B, W (R) T g

2

3 A
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(
(
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)
)
)
)
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(1) SREE (2) TehHaHl (3) HrgH (4) STG-atieh
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22. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the code given below :

Assertion (A) : The regional boundaries of biomes are some-what arbitrary.
Reason (R) : All kinds of major biomes are existing both in ocean and land.
Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not a correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

23. Match List - I with the List - IT and select the correct answer from the code given below :

List -1 List - II

(Zoogeographic regions) (Country)
(a) Orientel (i) Brazil
(b) Nearctic (i) Sumatra
(c) Neotropical (iii) Netherland
(d) Palaearctic (iv) USA
Code

@@ (b) () (d)
1 G @ @) (@)
(2) (@) @v) @ @
G) @) @Gv) @ ()
@4 @v) @) @ ()

24. The term ‘cultural landscape” was developed by :
(1) C. Darwin (2) C.O. Sauer (3) A.Humboldt (4) C. Ritter

25. Who among the following emphasized on the behavioural environment in Geography ?
(1) Johnston (2) Kirk (3) Gregory (4) Burton

26. Who among the following developed the concept of mental map ?

(1) Gould and White (2) Boulding and Haggerstrand
Downs and Stea (4) Saarinen
Nawor7 \II\IH\INHI“IIH\I\HI|||||HH|\|HIHIHIIHII 3




22, 9 D FHeA U E, TF A AR (A) 2R T HI H/IOT (R) F €9 H fezn mn g1 = fgg g
% H ¥ FEl I M
AR (A): T Y Yefrn afemmd g foaeme 2t €1
T (R) : TG YR &% Toft geim@ R 9o yfy R faemm €
< :
1) (A) 3R (R) S T& € IR (R), (A) H & =AW T
2) (A) 3R (R) S W& §, W (R), (A) I T =0 7 T
3) (A) §& T, g (R) Tod g |
(4) (A) 7o T, TG (R) TR T
23. eIt - 1 &I Gl - 11 & WY gafad ¢ 3R = feu T fe # 96 I 1 =60 &
et - 1 T - 11
(WfuT ayFiTedts wewT) (g9r)
(a) W= () oS
(b) TAsTRfesn (i) gHEN
(c) Tragifuswa (Fero swfese) (ili) TS
(d) Hfcemhfee (iv) ZLTHT
< :
@ () (o (d
1) @) @ Gv) ()
2 @) @) @ @
G) (@) (@v) (@) (i)
4) (v) @@ (@) (i)
24. 'heaRd ety (WiThfaw ygo) ves foRen faefad faman €2
(1) . =ifeH (2) HL3L ER 3) T e (4) 1. Rex
25. il § SHIRRHe qafeRy W frefafad § § fords ot fan ?
(1) S (2) foeh (3) I (4) WA
26. WHMGE AR Hi TauRon fr=fafed § @ fee fawfad #1 €2

(1) Tecs U8 e (2) difegn e s
(3) T WE (4)  HHEH
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27.  Who among the following geographers focused on man-centered geography ?
(1) Huntington (2) Semple (3) Jefferson (4) Ratzel
28. Who was the first Greek Scholar to calculate the circumference of the earth ?
(1) Aristotle (2) Herodotus (3) Anaximender (4) Eratosthenes
29. “Space is Socially or Culturally Constructed “ is the view under :
(1) Behaviouralism (2) Logical Positivism
(3) Structuralism (4) Post Modernism
30. Match List - I with the List - II and select the correct answer from the code given below :
List - I List - II
(Geographer) (School of Geography)
(a) Albert Damangeon (i) German school of geography
(b)  Friedrick Ratzel (i) French school of geography
(c) Halford J. Mackinder (iii) British school of geography
(d) Isaiah Bowman (iv) American school of geography
Code :
@ () (9 (9
O 6 @ v @)
@ @ @6 @) ()
@) @ O G @)
@) (v @ @ o
31. Who wrote the book ‘Meteorologica” ?
(1) Aristotle (2) Posidonius (3) Plato (4) Erastosthenes
32.  Which one of the following continents recorded highest density of population as per United
Nations Population Fund 2015 data ?
(1) Europe (2) Asia (3) North America (4) Australia
33. Japan’s population pyramid would most likely resemble to that of :
(1) USA (2) Brazil (3) Denmark (4) India
s T 1
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Tt - 1 & gl - 11 % 0 gafaa & ok F= feu 7u e § 92 3w &1 =971 =L
T - 1 T - 11
( yTireTel=T ) (e it Faeiiien )
(a) STEaE THAMSS (i) S e Sl TS
(b) TER® E= (i) = =pd Sl fSsiiet
() TETHE 3. Hfhex (iii) forfew =par e feTRm
(d) s SEA (iv) STHRRT Tpe sifth fSrsiiiie
<< :
@ () () (d)
1 @) @) (v) (i
) @) @ (@v) (i)
@ @ @ @) (Qv)
4 (v) (@) @) @

‘HifesRiattseh THE & e foe § 2

(1) 3RE (2) TSI (3) == (4) TERAE

FABEE AT e[ e 2015 & 3kl o ITIER Ffafed § § fordg #egiu § SHaen &
AfYhay o gt foham T ?
(1) 9 (2) TR (3) Sad sHRE (4) sieferan

ST Rl SEE frufie gera: fohd 9w o fafhe o 99 8 2
(1) FTET, (2) isie (3) ETHEh 4) sfem
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34. Consider the following statements :

Developing countries have registered increase in population despite significant decline in
fertility rates because of :

(a) Increase in Life Expectancy Rate
(b) Increase in Infant Mortality Rate

(c) Falling Death rate

(d) Better Living conditions

Tick one of the following code which reflects the above statements ?

(1) (a), (b) and (d) are correct
a), (c) and (d) are correct
, (b), (c) are correct

b), (c) and (d) are correct

@
) (
@

a

)
)

35. Which one of the following statements represents Population Pyramid with Wide base :

(1) Declining Fertility Rates
(2) High Fertility Rates
(3)  Declining Death Rates
(4) High Death Rates

2

4

36. Which one of the following depicts correct statement of Population Threshold for any

service ?

(1) Maximum distance that people can travel to use a service

2

4

(2) Minimum distance required for opening a service
(3)  Minimum population size required for a service
(4) Maximum population size required for a service

37. Match List - I with List - II and select the correct answer from the code given below :

(a) Site of human settlements
(b) Situation of human settlements

(c)  Pull factor in Migration

(Term)

List - 1

(d) Migration field

Code :
@@ () () (d
M @ (Gv) @) (i)
(2 @) @) @ @)
@) @) @) @Gv) (@)
(4) (@v) @) @ ()
eosor [ H{LHFERANANI

(@)
(i)

16

List - II
(Definition)
Movement due to opportunities of employment

The physical and cultural characteristics and
attributes of a place

The relative location with particular reference
to the significance to a place

Area that dominates a locale in and out
migration pattern
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34. Trefafed sl W foem =
foreRTERitel <@l = IS S0 § Hequl St o desg SHEe | g TS ol ¢, SHR R0l § ¢
(a) Sfed g X H gig
b) Fggg<dIfs
(c) Fog < H firree
(d) TI-He whi a5 e
Wﬁ@ﬁ@ﬁ@ﬁ?@%@%?ﬁﬁ@ﬁ%?

(1) (a), (b) AR (d) W T
2) (a) () 3 (d) & 1
3) (a), (), ﬂ%*%l

4)  (b), (0) 3 (d) T €

35. frefafed woHl § ¥ S 9 U9 A9E TUR & SHEE fRiie S gei¥id & € ?
1) Y R H fiee
2) 5= USH I
¢) I H fivree
(4) SHETIT

36. forelt +ff Tan & fau Soen m (Jusics) & 98l e frAfarad 3 § i 91 e 6§ ?
(1)  sifereham O ST S 1 ST 1 SUANT A o forT 7 Al et T
(2) 9l YN FHE o fC =Aan
(3) 9 % AU sEvgw =FAdH SHEE
(4) 9o % foQ STereEh StfieRdd SHEE

37. et - 1 &I el - 11 % 91 gafad ¢ 3R = feu TU fe # 96 I &1 =b0 #

Tt - 1 gt - 11
(ug) (uftvreT)
(a) e STl o1 Tt ()  USITR SferEdi & o fa
(b) TWE sfeE &t feafa (i) T T difqew IR Ak faPand qen 7o
(c) TIEd H foxiv HuvhReS (iif) T % HE h ToIy W H ok srafeerfd
(d) v & (iv) TOE 6T o TR 3R e T Sl IR FH
M ST &
h @@ (b) (9 (d)
1 @ Gv) (@) (i)
(2) (@) (@) (@) o (iv)
(3) (i) (i) (@v) (D)
4) (v) @@ (@) (i)
eosor (IR 1




38. Match List - I with the List - IT and select the correct answer from the code given below :

List - I List - II
(Term) (Definition)
(a) Central City (i)  Continuous built-up landscape with high density of
buildings with no reference to political boundary
(b) Network City (i) Areas outside city with urban characteristics
(c)  Urban Influence Zone (iii) Urban area contained within the official boundaries

of the main city around which suburb develops

(d) Urbanized Area (iv) Two or more independent but complementary cities
having high speed transport corridors

Code :

@@ (b) (9 (d)
M @ @ (v) (i)
(2) @) @Gv) @) ()
@) @) (@v) (D) ()
(4) (v) @@ @ ()

39. Locate the following places in Multiple Nuclei theory of urban structure in the figure and
match it with the list given below :

I

]

List :

(a) Wholesale and Light Manufacturing
(b) High class residential

(c) Medium class residential

(d) Industrial Suburb

Code

(I () (I (Iv)
M ® © @ (@
@ @ @G © (@
G @ (@© (@® ()
(4) b)

d) ()
|

© (
wasor [ FHIULANN s




38. eIl - I &I Gl - 11 & WY GAfad ¢ 3R = fou TU e # w61 I 1 =77

it - 1 et - 11
(T=) (Tt )
(a) H=IT IS (i) TSHIfae aREHn % fRdt Hed & IR SERGl % 39
B % |9 Y 3ATehfd Rl FEa fmo
(b) FeTH IR (i) TR % AR TR favraarsti & e el &
() THIF JuE &= (i) T IR, T G-I SR fasfad & ® €, 35!
YT GRS & T 3 &l ST &5
(d) TRIFd & (iv) R ISR T g I e S 3= 7ifa <k aftaed
FHINE L |
e
@@ (b) () (d)
1 @ @) @v) (i)
(2) (D) (@v) @) @)
3) @) (v) (i) ()
4)  (@v) @) @) ()

39. frAfafEd @ H TRIA YA & 95-hseh (961 § (EfaRad T ol 1 hiterg 31X 39 e &
TS e o 1 AT HITT

e
L]
O
Tl
(a) ek qer Boont fafior
(b) 3=d A AEH
(c) WY E™
(d) SRR TR
<< :
(I (n (I (Iv)
@ b © @ (@
2 (@ (@b (© (@
G) @ (@© @® (@
4 © @ @ (®
s [T 1




40. Which one of the following does not have role in push factors that seem to be operative in
rural India ?

(1) Rapid increase in the population growth
(2) High pressure of population on arable land

(3) Low per capita income and glaring disparity between levels of income of urban and
rural areas

(4) Slow but consistent increase in amenities in rural areas and increase in per capita income

41. Which one of the following defined regional growth pole as a “set of expanding industries
located in an urban area and including further development of economic activity throughout
its zone of influence”.

(1) A.O. Hirchman (2) F. Perroux (3) Boudeville (4) BJ.L. Berry

42. Match List - I with the List - IT and select the correct answer from the code given below :
List - I List - II
(Number of likely settlements of (K values)
different orders )

(@) 8,32, 128 i K,
(b) 4, 13,40 i) Ky
(c) 3,20, 141 (iii) K,
(d) 2,27, 351 iv) K,
Code :

@@ (b) (o) (d)
D (Gv) @) G )
()  (v) @) @) ()
@) @ @) G (@)
(4) (v) (@) @ ()

43. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the code given below :

Assertion (A) : The Green Revolution contributed to aggravation of poverty rather than its
solution.

Reason (R) : Wealthy and landed farmers realised that Green Revolution together with
agricultural mechanisation provided great potential for self cultivation. They
began to withdraw land from share cropping and rental market. As a
consequence, a large number of tenants and peasants lost their jobs.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not a correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) ) is false, but (R) is true.

a7 \|H||“||“||\H|H MU
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40.

41.

42.

43.

T YRA TR H5RRT ST alet ekl § fAfafad § § fha o it ofie & 2 2
(1) SEE gfg | e sgad

(2) HErE Yt W STHE A1 3= S99

(3) ufd Al wH T o T_L SR T &5 o I & W H IR M

(4)

Tt &5 § glawnsti § € W gad gfg aen ufa =afe s 1 sgad

Frefafed § 9 frem aeiien fowe ga 1 ‘vl &9 9 srafed fawia 2 S & 9= 3R
THH UG &3 H 2 W e fafafy % iR faewra’ & w9 § uRenfua foean €2
(1) Tsh. fe=iA 2) TH R (3) drefac (4) ST =\

Tt - 1 & gel - 11 % T gafaa & ok F= feu 7u e § 92 3 &1 =91 =L
et - 1 et - 11

(Tafir= wHil ol WuTfea (K 51 7)
Tl ahl WE&AT)

(@) 8,32, 128 i K,
(b) 4, 13,40 i) Ky
(c) 3,20, 141 (i) Kg
(d) 2,27,351 iv) K,
e

@@ (b) (o) (d)
(1) (Gv) @) @) ()
(2)  (v) @) (@) ()
@) @ @) @) ()
(4) (v) () (@) (i)

= < e feu T €, U 1 ATURYT (A) TR T I H/IOT (R) F &9 H e e ¥ A= feg e

% H ¥ FEl I M

USRI (A) : R wifd =t Ieie J Tl 1 THHEE T F 99 98 IR off 9¢ T |

T (R) : ¥t SR SAfeeh SiHie et foraml A a8 wegd fhan f sRa wifa ok & &
TRIERTU 7 I8 T Wl i il Tl &Hd YSH i © 1 3= dreier @l 31k
TR R feu SHame ©dl s am9d o IE S| 3ue 9o wWEy
Tfepisr TN § STEIiel 3R Fuehi ¥ IRl Tl 1 HH S T4 |

) (A) 3R (R) SF1 T € IR (R), (A) T & AR T |
) (A) 3R (R) I W& €, WA (R), (A) F TEI A T T
) (A) T8l T, T (R) oA § |

(A ) TTeTd B, 9 (R) TR T

a7 ||H|\|H|||||\|||H||H\||||H|H|\|H|\|||H||\||\||\|\|II\ 2



44. Which activity Contributes to water pollution more than any other throughout the world ?
(1) Agriculture (2) Hydro-electricity power generation

(3) Manufacturing industries (4) Urbanization

45. Which of the following Ocean routes is the most important and busiest route in the world ?
(1) The Cape Route (2) North Pacific Route

(3) South Atlantic Route (4) North Atlantic Route

46. Which one of the following was not assured by Weber in his least-cost theory ?
(1) Agglomeration economies lead to high transport and labour cost
(2) Labour is infinitely available
(3) Location with high transport costs may be attractive because of a cheap labour supply

(4) Transport costs were uniform by distance and weight in any direction

47. From the transport network graph given below, select one of the following code to depict
‘Diameter Index” Correctly.

A B

G

1 2 (2) 4
wasor [ FHIULANN 2



44, fy=fafed § 9 fra s =t og 4 R fova | frdl o= w0l 1 gor § 21 e1fosh siat ggu B

€2
(1) P (2) SAfagd Fe SR
(3) faf=io 3= 4)  vEdw

45, frefafed # @ =8 -1 gt ant fava &1 gaffus Ty iR =rdas A 8 2
(1) <9 =N (2) T wEnd AN
(3) cferolt stewifesw wni (4) T Tedifesn AN

46. I AU =AqH ANd Fogid § Fefafed § 9 fg @ A ar?
1)  THEd oMY sreeen § uftes iR 9™ AT et § |

2) g9 EIfHd ®9 ¥ U Bl ¢ |

(1)
(2)
(3) X FH I MYM o HRO o0 YRER AN alel T off TR & Hohdl ¢ |
(4)

4) uftaes AT Tt off foen § gt iR a5 & 8T T 99H At 7 |

47. = feu € 9ftee Aeaeh eter@ 9, Fefafed 3 9 = gais ' Seiiee ol S 91l &e ol 991
T

1 2 2) 4
rasor || FHMNE A 2



48. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R). Select your answer from the code given below :

Assertion (A) : Between Durgapur-Asansol-Chittaranjan and numerous collieries and
connected activities the Asansol sub-division represents one of larger
industrial complexes in the world.

Reason (R) : The substantial coal reserves and output, iron and steel output and
engineering industry in the Asansol sub-division outside the Calcutta
Metropolitan district are found.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true , but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

49. Who among the following political scholars appealed in 1949 for “a more geographical political
geography” ?

(1) Hartshorne (2) G.E. Pearcy (3) R.H. Fifield (4) George T. Renner

50. Who wrote the book known as the “World Political Geography’ ?
(1) G.E. Pearcy (2) Stephen B. Jones (3) J.K. Wright (4) Hartshorne
51. Match List - I with the List - IT and select the correct answer from the code given below :
List - I List - II
(Tribe) (Habitat)

(a) Bhils (i)  Shillong plateau

(b) Gonds (i) Eastern Jharkhand

(c) Santhals (i) Chattisgarh

(d) Garo (iv) Aravalli

Code

@ () © @

1) @) @) @ 6

@ O G @ W)

@) G @ (v @

@) @ @ @ 0
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48.

49.

50.

51.

(4)
rasor

= < e feu T €, U 1 ATURST (A) SR T I H/IOT (R) F &9 H e e ¥ A= few e

%ﬁﬁaﬁrwgﬁm

AMTRIT (A): TR - AHTHIA-ToRSH & o= STk e e e IR 311 Haifea e
FHATT B i aeTg W AEE gal-fefasm fova & g =g sieifie ufadi § &
TH B

ST (R) : FHASd HERIA el & aTer SeEre a-fefasm § qafa seen quer iR
3Th! FiH, <lreT iR sard &1 Seareq SR gShifafin 32 21

<

(1) (A) 3 (R) < &l € &R (R), (A) T T A T

(2) (A) R (R) S T E T (R), (A) FT FE A T L

(3) (A) W& 8, W (R) o S

4) (A)

3) (A
A) TTeTd 8, T (R) T R

4

frefafed 5 9 forg srifaen foagre 7 ot 1949 § ** s1aafend Teh 31k sirmifersh TSiHIfdeh el
I Ade i ot ?

(1) =S (2) SiE. uHt (@) oRwE. frfree (4) <SS & I

‘gee difcifeshal SR’ AH® J&is 1 o Efared § 9 fhae &t off ?
1) StE T= ) WHEIE S (3) S W (4) TR

et - 1 1 gl - 11 & 91 GAfad & iR 99 feu 7u % § 92 3o &1 =91 a6

iv)

Py
[

a)
)
i

iii)

)
[l

1
G) (i) @v) ()

) (@) (
AN

I s



52. The concept of ‘Cultural landscape * was popularised by :
(1) Wilber Zelinsky (2) Carl Sauer (3) Anne Buttimer (4) Ratzel
53. The paradoxical situation of co-existence of the patrilineal society and the dominating position
of women characterize :
(1) Tharu Tribe (2) Khasi Tribe (3) Gond Tribe (4) Bhil Tribe
54. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the code given below :
Assertion (A) : Joint family institution is linked with the economically less developed area.
Reason (R) : Educated and well placed white collar employees go for nuclear family.
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true , but (R) is not a correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
55. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the code given below :
Assertion (A) : Metros are emerging as efficient, viable and alternate means of transportation
in metropolitan cities in our country.
Reason (R) : Old and unplanned cities with rapidly growing population are burdened
with multi-mode of transportation in India.
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true , but (R) is not a correct explanation of (A)
(3) (A) is true, but (R) is false.
(4) (A) is false but (R) is true.
rasor [ HERUARAN 2




52.

53.

54.

55.

frefafea 9 9 foran  wisrfas gy’ ot STauRom il dlsh{Ud s o ?
(1) foeR Sfe=nt  (2) el w1 (3) it gfem (4) Y@

Yo TS TR Afeeted i gurerenen feufa & Te- i ot fadienaed feufa frefafaa § 9 faad
A R § 2

(1) o1& SIS (2) @ S (3) Tiie S (4) el SESfd

=1 1 her feu T €, U 1 1R e (A) TR TER I RIUT (R) & &9 H fean men g1 e few e

AfireRer (A) :  TgF URAR Feen onfefe w9 ¥ &4 faswfaa &9 ¥ gt ¥

SHROT (R) : fafara iR o1= 9 W g vad FieR HHARI o7 fore ehet afar gAd €1
<< :

1

1) (A
@ (A
3) (A) W &, W (R) T ¢ |
4 (A

1 <1 he U T €, U 1 SRS (A) 3R TR I S®/IOT (R) & €9 § fen mn g1 A= few e
% H § T W G

AR (A) : TSI TUR T F WM H URaed & Fue, Faed IR dhfcus e & 9 H

I @ B

T (R) : aRd B X SiR fomr foRelt Aot & 99 W) W SHEEn dstt 9 9 @Y, @l
fEeT & agd qlh s o gL E |

<

1) (A) 3R (R) IH T2 T 311 (R), (A) F Tl AT 7 |
2) (A) 3R (R) M TE T, T (R), (A) Ht T AT T B |
(3) (A) & g, TG (R) T g |

(A) T T, T (R) T &
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56. Match List - I with the List - IT and select the answer from the code given below :

List - I List - II
(Approach) (Development index)
(a) Development index (i) Average development rating based on opinions of a

presumably qualified sample group.

(b) Consensus (i) Composite development scores based on a
combination of numerous sub-scores for individual
indicators.

(c) Subjective integration (iii) Per capita income, longivity of live and social well-
being.

(d) Human development (iv) A set of adhoc regions, the classes and boundaries

of which are determined on the basis of field
experiences combined with subjective assessment.

Code :

@@ (b) (9 (d)
1 G Gv) (@) ()
2 @ @ (@v) (i)
G O Gv) (@) ()
@ @ @@ @) @)

57. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the code given below :

Assertion (A) : MNREGA constituted very ambitious rural development programme of
India.

Reason (R) : Building basic infrastructure got linked to provide minimum number of days
guaranteed employment.

Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true , but (R) is not a correct explanation of (A).
(3) (A) is true, but (R) is false.
4)

4) (A) is false, but (R) is true.
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56.

57.

T - 1 el - 11 & @19 gHfed it SR e S 7T e 1 991 id gT HEl S I =9

H
Tt - 1 Tt - 11
(gfeamtuT) (forewTe gorehian )
(a) o gEid ()  STIAITTA &9 | frferd T 99 it T W uiRa i
Torepma ¥fém |
(b) EEHfd (i) SAFKETG Fahiehi o fAT 3T IT-3fehi o FANH T
SN et faehrd 3feh (ThR) |
(c) fawafrs FumRed (iii) ¥fd = o1, S 1 SR SR Ao gara |
(d) wma fae™ (iv) e &, S SR Himrst 1 TH=ad Sl Hies el 3R
fowafTs s & MR W fAuifa @ €
e
@@ () (9 (d
1) (@) (@Gv) @) @)
2) @@ (@) (v) (i)
G) @ (v) (i) (i)
4) (@) @ @) (i)

= 31 e fou T €, ww i ifieRe T (A) 3R T 1 SRR (R) % &9 H fen R A few e
%ﬁﬁﬂ@ﬁ?ﬁm:

ATRIT (A): AT 1 YRA & HIH! TecaTshial T fahrd wE%T & 9 § I0eH |

HIUT (R) : AGH ISR TR 3o Gea i g STHURYT STaET=HT o 0 &l 39 As
S T |

ETE
(1) (A) 3T (R) S T T 3R (R), (A) FT T =0T )
2) (A) 3R (R) S TE €, TG (R), (A) Ht T AR T T |
(3) (A) ¥ g, TG (R) T g |

(A) T T, T (R) T &
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58. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the code given below :

Assertion (A) : Urban agglomerations and metropolitan cities are growing rapidly in India.

Reason (R) : Satellite towns are not sufficiently and significantly developed to release
the pressure of urban population.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true , but (R) is not a correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.

59. Which one of the following statements is very correct in context of the concept of Growth
pole and growth centres ?

(1) Both the Growth pole and Growth centres are uniformly distanced in the region.

(2) Lower order Growth centres are located quite far away as compared to higher order
Growth centres.

(3) Higher order Growth centres are located far away while lower order Growth centres
are located closer to one and an other.

(4) There does not exist any rule in the distance between Growth pole and Growth centres.

60. The percentage of decadal growth of population (2001-2011) is the highest in which of the
following states ?

(I) West Bengal (2) Maharashtra
(3) Uttar Pradesh (4) Arunachal Pradesh

61. Which one of the following is responsible for concentration of slum population in India ?
(1) Commercial plantation activities are dominant.
(2) Manufacturing activities in organised sector are dominant.
(3)  Service activities in organised sector are dominant.
4)

4) Manufacturing and Service activities in non-formal sector are dominant.

62. Which one of the following states is leading producer of Coffee in India ?
(1) Kerala ( Karnataka (3) Assam (4) Tamil Nadu

2)
(AT .

)
s |



58. < 2 oM U MU E, T H1 USRI (A) R TH H H/IOT (R) & €9 H fen mn g1 = fgg g
% H ¥ FEl I M
ATRYT (A): IR0 T 3R AR 9RA H dsit § ag W T |
SHIUT (R) : IR SIFGEAT I A9 FHH FH 3g STTR Faad: 3R Feeqel €9 9 fosmfad 72
ferg M €

< :
1)
2) (

A) 3R (R) SFT @&l € IR (R), (A) 1 T& =& ¥ |
(2) (A) 3T (R) S T E T (R), (A) B T A T
(3) (A) ¥ T, T (R) T B

(4) (A) 7T § W (R) WE

59. fre=fafed & @ $H-O1 fawm ya IR fawm % Fi SEuRon & Gau § sifus w2 72
(1) TowmE ga IR faed &= IH1 & &9 § T 999 g WA & |
2) 3=a A fowm ¥ # ga # 1 e faem s s @ srafed 2 )

(3) 3=d % o™ g HTH T TART B § Safh (74 %A foh™ F% TH-TR & e
AT B € |

(4) fawm ga iR fowmm w1 & = &1 g0 & Gy | &8 fm foemm 72 7

60. SHEE Ht URA Jhg H gfaear (2001-2011) Frafafed § & fora T § waifas 72
(1) U= s (2) RN
(3) W HeW (4) STEUTEA Y

61. TrefafEd § SiF-91 UG § Aeild odl SEe Goh=ul o foiw Scer § 2
(1) aforfses drermqor Mfafaferi yee €|

2) wnfeq &= H fafmior nfafafesi yae €

(3) Hnfed & H Fan nfafatemi yeet 1

(4)

4)  SEEReR & H fafmion SR den fafafee gee €

62. ToefafEd § @ S - 91 19 YA | %! ol Y Scdesh TF & 2
HA (2) HAleH (3) TEH (4) dfferErg

(1) )
rasor || FHMNE A .



63. Match List - I with the List - IT and select the correct answer from the code given below :
List -1 List - II
(Hydel Power Projects) (States)
(a) Sharavathi (i) Odisa
(b) Balimela (i) Uttar Pradesh
(c) Obra (iii) Karnataka
(d) Shanan (iv) Punjab
Code :
@ () © @
O O G @) @
@ @ G @)
@) @ @) 6 G
@) @ 6 @ W)
64. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the code given below :
Assertion (A) : Northern part of Ganga plain has very few irrigation canals.
Reason (R) : This area receives high rainfall and has plenty of underground water.
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true , but (R) is not a correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
65. Match List - I with the List - IT and select the correct answer from the code given below :
List -1 List - II
(Crops) (Largest producer state, 2016-17)
(a) Raw cotton (i) Uttar Pradesh
(b) Mustard (i) Rajasthan
(c) Maize (i) Gujarat
(d) Wheat (iv) Andhra Pradesh
Code :
@ b © @
V) @ @) @ 6
@ v @) 0 @
@) G @ @) 0
@) O @ @ W)
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63.

64.

65.

T - 1 & gt - [ & 19 gofoad & 3R 99 ST 70 e & 928 ST 1 =97 &l -
et - 1 gt - 11

(STefae@ uftEeT ) (T=T)
(a) STt () offewm
(b) Sferden (i) ST G
(c) e (iii) AT
(d) A (iv) ST
<< :

(@ () (o (d)
1 @) @) (@v) (i)
(2) (@@ @) (@) @)
3) @) @v) @ (i)
(4) () (@) @) (i)

T 1 e fou T €, w0 AfeRe T (A) 3R T 1 RIRUT (R) & &9 H fen ¥ A few e
ARTReT (A) : T F HeF & ST e | FHroht w4 fo=rE el ¥ |
HIT (R) : TH & § %! 6 Sl © SR $9h I AT " H ofia §id T

3R (R) <1 & § 311 (R), (A) T 98 ==

3 (R) IH1 @& ¥, T (R), (A) ! 9l =0 T 81
& §, g (R) TTeid B

Terd ¥, Ieg (R) Tl

el - 1 1 gl - 11 3 |1 aferd o o) 9 S T e § 98t W 1 =997 a8

g - 1 T - 11
(wEA ) (Tgifies SMges S, 2016-17 )
(a) hTdl UM () WU
(b) T (i) TSR
(c) AT (i) TSI
d (iv) Y 9eW
e @@ () () (d)
(1) @) @) @ @
(2)  Gv) @) @ @)
(3) @) @) (@v) ()
4) @@ @ @) (@)
eosor7 || LA .




66. Match List - I with the List - IT and select the correct answer from the code given below :
List - I List - IT
(Mountains/Ranges) (Peaks)
(a) Nilgiri (i) Sagarmatha
(b) Satpura (i) Mt Abu
(c) Aravalli (i) Dhupgarh
(d) Himalaya (iv) Dodabetta
Code :
@ () (9 (d)
O G @) 0O @
@ O @ @ @)
@) (v G @ @
@) G @) @ 0
67. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the code given below :
Assertion (A) : With every successive census in India, the growth of population results in
greater increase in slum population.
Reason (R) : Both the area and the population of India have been increasing continuously.
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true , but (R) is not a correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
68. Which one of the following phenomenal relationships is depicted by an ergograph ?
(1) Temperature and absolute humidity
(2) Rainfall and runoff
(3)  Crop production and rainfall
(4) Crop season and weather conditions
69. Which one of the following altitudes belongs to sun synchronous polar orbit ?
(1) 30,000 to 36,000 km
(2) 2,000 to 6,000 km
(3) 300 to 1000 km
(4) 5,000 to 15,000 km
s T "




66.

67.

68.

69.

el - 1 1 Gl - I & 1 gafad oL 3R = fu U e § 98 S| &1 =59 &

et - 1 el - 11

( uda/gelagiut ) (=it )
(a) i ()  EERHEET
(b) wageEt (i) AU T
(c) eIt (i) YIS
(d) femre™ (iv) SISeE
< :

@ () (¢ (d)
(1) (@) @Gv) @ @)
(2) @ @) @) (@Gv)
(@) (v) @) @@ @
(4) (@) @Gv) @) @)

= & e fau e ¥, ueh ol ifiaeRe T (A) 2R TER S RRUT (R) % &9 H fear mn g1 i faw e

AURT (A) :  YRA H YIeh STIehHeh SIRTUMT o e, Hell afeal st saaen ¥ ai gfg et
TR

T (R) : IRA & & IR SEE <H § Had ®9 9 gig et W)

< :

(1) (A) 3R (R) 31w & IR (R), (A) 1 W& e 2|
(2 (A) 3R (R) S ¥ & T (R), (A) FT TG A T W
(3) (A) HEI 3, W (R) o B |

(4) (A) T B, T (R) HEI B |

“witomw’ gR1 Frefafad § 9 fha wdeme deiy 1 feson e € 2
(1) qrome iR fder e ) gfe IR ar
(3) HIA A IR gfe (4) O O IR drdr fefaar

frefafed § @ FA-9 S=E g9 Joawiias gaia w9 Fefeg § 2
(1) 30,000 & 36,000 .. (2) 2,000 ¥ 6,000 for. .
(3) 300 & 1000 fer. . (4) 5,000 § 15,000 fo. .
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70. Which one of the following terms is correct for calculation of Skewness Coefficient (8;) ?
3(X;—X) /23X —X)?
@ p = >/<1 )
SX; =X /32X —X)°
@ p = )/(1 )
_ P P
2(X; =X 2(X; =X
0 g 206X /<l )
L n 1/ L n ]
_ a2 [ P
3(X; =X 2(X; =X
W g 206X /(l )
L n /L n i
71. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the code given below :
Assertion (A) : Standard Deviation of a series is the measure of its variation.
Reason (R) : Standard Deviation is needed to compare the variation between two or
more series.
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true , but (R) is not a correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
72. Consider the following statements :
(a) Tele-communication satellites are mostly Geostationary satellites usually placed at an
altitudes of more than 30,000 km.
(b) Resource satellites are sun synchronous usually placed at an altitude of 300 - 1000 km.
Which of the above statements are true ?
(1) (a) only (2) Dboth (a) and (b)
(3) (b) only (4) neither (a) nor (b)
73.  Which one of the following sensors is an active remote sensing sensor ?
(1) Photo Camera (2) Multiframe Camera
(3) Multiband Scanner (4) Radar
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70.

71.

72.

73.

frfafea § § w9 a1 92 forsmar qoniss (8,) % TRehe 3g & ® 2
3(X; —X) / 3(X; —X)*
n n

1) B1=

3(X; —X)* / 3(X; —X)°
n n

2) B1=

n

— __2_3 — __2_2
& g 26X / 306-)

et e
W g Z6=%) / 306-X)

n

= 1 e feu T €, T A IUeReE (A) 3R TH I ®IOT (R) % 9 H fen T 71 AN few e

FeH | HEl SW I

AfeRe (A) :  FRd IS =1 A foeem saent fafi=tar =61 =g 2 21

T (R) : WMDY Aferer TS F &= w1 fafy=rarsti st gor w3 & foe e foeem
i & Bl T

<

A) 3T (R) SHi @& € 31X (R), (A) 1 T == B |

A) 3R (R) THi T& €, T (R), (A) T T =0 78 7 |
A) T ¥, T (R) e

)
)
)
) (A) TS T, T (R) TR

_— s e e~

(1
2
3
(4
Frefafed el W) foem i -

() FIR 3TwE sfvepiora: y-feer Swrg B € f9= wm: 30,000 for . & e1fersk Samé W Tenfi

ERIS GRS

(b) T 3TUE G qoehifersh B € = 9™ 300 - 1000 T, 1. T Somé R Tenfua feman sman ¥4
ST H | -9 HeH T 2

(1) &9 (a) @ () 3R (b) 3

(3) had (b) 4) (a) 3R (b) § ¥ FE &
frfafed § 9§ -9 Ha5® T qishd ¥ Tag! Hogs & 2

(1) IR AT (2) TERIHA HAEQ

(3) WEEE T (4) TR
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74. Consider the following figures X and Y :

B

Acm

A
RF1:2,000

X

D

Acm

C
RF 1 :10,00,000

Y

Which one of the following statements is correct ?

(1) Figure X is small-scale map and distance between A and B is 40 metres.

(2) FigureY is large scale map and distance between C and D is 4 km.

(38) Figure X is large scale map and figure Y is small-scale and distance between A and B
and C and D are 40 metres and 20 km, respectively.

(4) Figure Xis large scale and figure Y is small-scale. The ground distance between A and
B, and C and D are equal.

75. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the code given below :

Assertion (A) :

Reason (R) :

Code :

Dot map is especially useful when the values are distributed unevenly and
sporadically.

Smaller the statistical unit, more accurate is the Dot map.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not a correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

-00o0-
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74. Trfafed smefal X 8iR Y | foam & :

B

Acm

A
RF1:2,000

X

D

Acm

C
RF 1 :10,00,000

Y

frefafead 9 | s -9 HoF & 8 ?

1)
(2)
(3)

(4)

TR X T THS € 991 A 31X B % o= ot g 40 WeR T
3Mpfa Y ged AHfES § 991 C IR D & oia &t gt 4 fop.dt. 7

3Mehfd X Jed aHras § 3R oThfa Y o o= € 9 A 3R B 9o C iR D % o & gl
HO: 40 HieR IR 20 T 1

3TMhfd X Jad 3R 3Thfd Y g gt €1 A 3R B 91 C 3R D & i ol 3TUR gt T8 1

75. 9 2 A U E, T A AR (A) R T HI H/IOT (R) F €9 H fezn mn g1 = fgg g

% H ¥ FEl I M
AfF®eT (A) :

T (R) :

He :

1) (A)

@) (A)

3) (A)

4) (A)

4

(A) 3T (R) THI W& ¥ IR (R), (A) I Tl AT 7 |
(A) 3R (R) SFT T&t & T (R), (A) T & =0 T )
& §, g (R) TTeTd B

(A) T T, T (R) T R

-00o0-
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